FHBE

D BTN AR 2 I R HE R IR S (BEAR)

ANSIEZR i
AP A S5
REUR SRS e 3 35

E—m: RIME
A1 -FTH NV REVRH #E

FEUE EiT il "ol HiE
ES) ES) AR
(%)

SRR (V d )
O T Euh

O T FCI/ A

O FE T

O T ECI/ 77 S s t

BIRSHFE & (Vi)
O JeeEH

O JRAEH / AR
OJeMEH/ T

O JEFEH /7= i Al

A2 — REEHTR (4132 7])

FEUEI Eiia=g ot HE
ES) ES) AR
(%)

AT A AN H)

FEMD(NOY S (A
JT)

R (PM) SO (2
JT)

A=

FEMEYNO I = (BETTH LB H T x 0.9 7/ 2 + (I LEFATH A FH x 1.6 75/ 2
) + (EZLZETTH L FH x 8.2 57/ 4 )

TFIPM) HE 4 = F2HILEFTT 2N H x 0.3 i/ 2N ) + (E 172N H 0 H x 0.6 7/
PALE)|

A3 - TNEE SRS HIB (415 /)

1] 25 4550 % HL B
TR 45 3 A &0
ER EX A5 7))
(%)
| BRI H (M)




FHBE

FEAAAI(NO)HE i (2
JT)

25
FAMYNOY T = KPR 25 (4 7))x 0.014 (28775 75- M) x K HIEL(D )

ES L
e 3k 3 Fi4r Lt #IE

ks Ed A5 5)
(%)

B ST FE( D)

FEAAAI(NO)HE i (24
JT)

HAIR (SO E (2
JT)

A=

HATEYNOy) : WIFIEL)F< 293 T I, JWHFA LYK= ITFENIRFIE(T]) x 2.2 TR A

w7t
FN(SO): WIHGEL)F< 293 T A WML O A= T FEHIFI 2 (TTX 1T 3253 1L/

I x i & 42 (%)

3] AL =AMIX L) 1A

HEAESY] 7 4] Fortt it
E E )
(%)

SFEHLE (KWh)

BAEMEY(NOYHE IR
(A7)

RAMDHIR (2 T)

ORISR (2 )T)

A

FAYNOY)= MFEH (T IHNx 1.4 7/ TRl —F 1 mm(SOz)=slFEH (T LK) x 2.1 5/
TR JHPM) = s FEH (T AL HT) x 0.2 35/ T B

gy

o (F—H#) WA BisRATEh X

B1 — prA M RETRIH#E
| A H b KR




FHBE

1.

2.
B2 — ZEWHE (4045 /)
WA H bk 118h%)
1.
2.

B3 - LM B S HE (2745 /)

(A 58K B I ZEM BN B — A IX B ) T A1)

kA H br stk

1.

2.

3.

4.

Foidis ARAT N PP Bh A MAR T LoD BERE S R HECR B — 2% o A& m) ] iR ffe A

bR PE BB T B3 B A% A A o






